A £ 0l & AF & S

Al A

0243 20ilat LBte A 20l X
SA BB
M #ZYRAZH(FZ0E X
&t JI=Z (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S0 X2 16,583,210 22,897,951 N\6,314,741
= 5,327,887
[ 71,000
Il 1,094,710
< 1,825,665
= 8,090,964
= 172,984
YA ZHI(Z0E X2 59,348 58,418 930
=34 59,348 58,418 930
Jl=23H] 55,568 37,974 17,5%4
201 er23 | 20,368 16,350 4,018
01 At2teltl 20,272 16,254 4,018
OJl=2Z2l 12,600
-=S &l 8,000 x341 %12 +25E 7,200
-2 et=EH| 240,000 x25E *90% 5,400
OA&EHl |A2clt| 5,600
= A 700, 0002 <2CH 1,400
~T2IED) 600, 00024 +7CH 4,200
OBIIZED| 2H2
41,9002 x2CH* 122 1,006
O&=D| Xz 44,4002 =20 x 122 1,066
2 s3234l % % 0
Ord2Erdlz 8,000 12 %
202 04t 35,200 21,624 13,576
01 =LHOHI 35,200 21,624 13,576
OO 35,200
—2HLH 160,000 x25E + 123 »65% 31,200
-2 200,000 x25EH +80% 4,000
HEFLH| et 3,780 3,240 540
203 HR=H] 3,780 3,240 540
M EAEgER=A 3,780 3,240 540
ORNSYYRERY| (0| F)
350,000 * 122 *90% 3,780
OlcHAICi?t S&Eots ASIts 28 6,917,083 7,304,646 A\387,563
= 3,610,642
Jl 37,500
= 774,832
= 2,327,089
= 167,020
EA=E AE 6,646,829 7,054,810 A407,981
= 3,573,000
) 37,500
= 746,800
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2A:

2HZ 0l L Xl 2t

M OlHMItHet S&Eote NSHIts 2
el BAESE dE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O24a0tA &8 5,000
-EEES MH 5,000,000& 5,000
A0LE JJ2ISAl A 29 126,885 31,200 95,685
101 21A4H| 28,885 0 28,885
04 JIZtN2Z2 XS 2+ 28,885 0 28,885
OEANZHSH 2 26,031
-eIfY 78,8803 x1H+300&! 23,664
“4lEE=E S 23,664,000 *10% 2,367
OBANZHEH HE=HY 22
105,700 *32*32+33] 2,8%4
201 fer=3| 95,200 31,200 64,000
01 At 22|l 58,000 0 58,000
Oz=dAlg 2K |X - 2l
55,000,000 55,000
OADIE J8lZAl 28 223 72|
3,000,000& 3,000
02 S3=gHl 37,200 31,200 6,000
OALOIE J8lZAl M 24 37,200
-HIB(HEYE, RREs YY)
3,000,000& ~12& 36,000
-AOIE 22 Salt| 1,200,000 1,200
405 AHatE = 2,800 2,800
01 MMM ESFSHI 2,800 2,800
ookl =28 228 28
1,400,000 *2H 2,800
MNEE 20U A 7,100 5,600 1,500
201 et 3| 3,000 5,600 A2,600
01 AtR2tc|bI 3,000 5,600 22,600
OJAOIE FXI/2tel 3,000,000& 3,000
301 LEIE NS 3,000 3,000
14 JIEt2 8= 3,000 3,000
OtZHU g5 24 JIZEl2
3,000,000& 3,000
303 Z&a=s 1,100 1,100
01 Za= 1,100 1,100
OR=2AN A&z 1,100
R 500,000 * 12 A 500
e 300,000 x2= Al 600
FRIEO0 A (B ZD12 ) 10,000 10,000
307 elzto| & 10,000 10,000
02 2B YAIHE & 10,000 10,000
OB AtE AL 10,000,000 10,000
BIALE 2 43tAY 28,544 31,540 N2,99%




2A:

X XH -
o=

2HZ 0l L Xl 2t

OlcHMITHRE B&StE NHots 28

el BAESE dE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 4,240 7,236 A2,9%
01 At2teltl 1,000 900 100
OS2 &2 2(35) Mz
1,000,000 %14 1,000
02 S3=gHl 3,240 6,336 23,096
ORI SXIZ2l]
1,620,000 *20H A 3,240
206 M=Hl 24,304 24,304
01 MHZH| 24,304 24,304
OFM ZEH MATHE 7
124,000 x283=+7JH 2~ 24,304
SEANHP L= 1,620 2,970 A1,350
203 HR=AH] 1,620 2,970 1,350
03 A= PR F&IH| 1,620 2,970 1,350
Oostgdgexd 1,620,000 1,620
ZOIXSIE 70 A2 2,320,000 2,050,000 270,000
= 1,120,000
= 448,000
Ea 672,000
= 80,000
402 QI2F X201 & 2,208,000 1,990,000 218,000
= 1,104,000
== 441,600
o 662,400
02 RIINEASEZ(0IETHR) 2,208,000 1,990,000 218,000
O&IITtSAE FOHXIR
8,000,000 «276CH 2,208,000
= 1,104,000
s 441,600
s 662,400
405 AHAHE S 112,000 60,000 52,000
= 16,000
=S 6,400
s 9,600
= 80,000
01 ML ESFSHI 112,000 60,000 52,000
O&IISAE FOHAIZ 112,000
24 ASIE 7Y
28,000, 0002 =4CH 112,000
= 16,000
= 6,400
Ea 9,600
= 80,000
&DIst=xt FOHKIZ 2,390,800 3,080,000 689,200




2A:

X ZH -
o=

2HZ 0l L Xl 2t

OlcHMITHRE B&StE NHots 28

el BAESE dE (St &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
= 1,529,000
=S 166,800
ia 695,000
402 2I2FXH=201& 2,390,800 3,080,000 689,200
= 1,529,000
= 166,800
Ea 695,000
02 RIENZASE X (01 THR) 2,390,800 3,080,000 689,200
O&IIZSXt 0K
17,200,000 *139CH 2,390,800
= 1,529,000
= 166,800
Ea 695,000
FASMA 298 XE 276,000 240,000 36,000
307 @120l & 276,000 240,000 36,000
05 glt?(& = 276,000 240,000 36,000
Ox=A8d8A 2g8H X&
23,000,000& «12& 276,000
HII0IEX ESAHY 48,000 64,000 216,000
= 24,000
[ia 24,000
402 QIF X201 & 48,000 64,000 216,000
= 24,000
Ea 24,000
02 RIENZASEEZ (01 THR) 48,000 64,000 16,000
OHII0IER ESAS
1,600,000 *30CH 48,000
= 24,000
o 24,000
F=AHS MR 200 X2 1,340,000 1,340,000 0
= 900,000
== 132,000
o 308,000
402 SI2ERH=201 S 1,340,000 1,340,000 0
= 900,000
= 132,000
o 308,000
02 RIENEASEZ(0IETHR) 1,340,000 1,340,000 0
Ox=2HAS MR F20HAIE
33,500,000 *40CH 1,340,000
= 900,000
= 132,000
Ea 308,000
HEFsA B2 N 2,000 0 2,000




SA BB
M OlHMItHet S&Eote NSHIts 2
el BAESE dE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 2,000 2,000
01 At2teltl 2,000 2,000
OB TS BEHZAIAE FXI2el
2,000,000& 2,000
HENH 22 270,254 249,836 20,418
= 37,642
= 28,032
= 117,560
= 87,020
oessEs2el 52,150 48,636 3,514
101 @124H| 41,650 40,636 1,014
M ORINZZ2NSE S 41,650 40,636 1,014
O0tdsSAZESE LEZA
78,8803 x 120 +4H 37,863
O4li2EE S 37,862,400 *10% 3,787
301 2N = 2,500 3,000 A500
14 0Bt 2a3 2,500 3,000 A500
Fdods=E X ESANES
1,000,000& 1,000
O0tdsE oY Lol & s&E LoH2d
500,000 *3= It 1,500
307 el2tol & 8,000 5,000 3,000
02 2IZHBYAIAE & 8,000 5,000 3,000
OOUSE2ES & UZF2A
8,000,000 8,000
Or4 S =IO AMH 47,616 14,400 33,216
= 10,508
= 3,182
o 7,356
= 26,600
206 M=l 16,600 0 16,600
= 16,600
01 M= HI 16,600 0 16,600
ORdiordiss IO X
25,000 6003 15,000
= 15,000
OO0Fl = DM XA
32,0003 »50% 1,600
= 1,600
402 2I2FXH=201 & 31,016 14,400 16,616
= 10,508
= 3,182
Ea 7,356
= 10,000




2A:

2HZ 0l L Xl 2t

M OlMItHet S&Eote NSIts 2
Gl MEHH ES (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 QI X2 AL E A (KEMITHE) 10,000 0 10,000
OOIMES TIFHILAIL XA
2,500,000 *40H 2= 10,000
= 10,000
02 QI X2 AL EE (01X THE) 21,016 14,400 6,616
OOIMES TIFHHILAIL SXIA
2,627,000 +8IH 2 21,016
= 10,508
[ 3,152
T 7,3%
OriS= Hoi=2et 10,800 12,000 21,200
= 3,240
[Ea 7,560
301 LEtE N = 10,800 12,000 1,200
= 3,240
o 7,560
14 0Bt 2a3 10,800 12,000 1,200
O0tds= s&= Lo2d
2,700,000 x4t 10,800
< 3,240
Ea 7,560
HENH et OFESAIE EIXIAE 10,000 10,000 0
= 5,000
< 1,500
[Ea 3,500
201 Ler23 | 10,000 0 10,000
= 5,000
=S 1,500
s 3,500
01 AlR22IH| 10,000 0 10,000
OMENH M OFMEAIS EIXIAY
10,000,000 * 14! 10,000
= 5,000
=S 1,500
s 3,500
SOt SSHIHEXH2 S 105,420 50,000 55,420
< 13,500
= 31,500
= 60,420
201 fer= 3| 30,020 0 30,020
== 7,380
o 17,220
= 5,420
01 AtR2t2lHI 29,020 0 29,020




2A:

X XH -
o=

2HZ 0l L Xl 2t
OlcHMITHRE B&StE NHots 28

el MENH 235 (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OB AUC|AIAY PS S| Stl=
130,000 »34CH 4,420
= 4,420
OX=2lE AtHIXelH] 24,600
et AbMIA 2l 9,000&+8000t2| 7,200
= 2,160
Ea 5,040
“SUEH X AFMIA el 50,0003 »3480+2| 17,400
== 5,220
o 12,180
2 35244l 1,000 0 1,000
ORNOIESE AtME2 A& |2+
1,000,000& 1,000
= 1,000
206 MH=HI 15,000 0 15,000
= 15,000
01 M=4l 15,000 0 15,000
Oftds=E 222 =578
15,000,000 15,000
= 15,000
301 EtE2 NS 60,400 25,400 35,000
s 6.120
s 14,280
= 40,000
14 JIEt 2 a3 60,400 25,400 35,000
Olefll 28 Ba=
50,0002 x4080t2| 20,400
=S 6.120
s 14,280
Otrds= Z& (et 2d=
50,000& x3000+2| 15,000
= 15,000
O0rds= Z (AN 2=
50,000& *5000t2| 25,000
= 25,000
OLZCIDIHXIEE UHSAE 44,268 42,200 2,068
= 22,134
= 6,640
[Ea 16,494
201 fet= 3| 11,218 0 11,218
= 5,609
= 1,683
= 3,926
01 At2teltl 11,218 0 11,218




FA 20X
2 OlHNITHRE B&ESHE NSots 28
Cl: MEHH ES

S - HE - BRI(3) - ARAY

- HyS

il v

HMEE
Ofl &k2h

OSUE Xl AbMIA eIl

OAIZXH

il
b
0
O

50,0003 »2040t2|

2,000& *509H4

HH W

HH W

10,200
5,100
1,530
3,570
1,018

509
153
356

HH W

33,050
16,525

4,957
11,568

32,000

1,050

14 J|EL2 A
OUEHXI BAHIH2IE 2

ORI ALMI Al THF

50,0002 »1000} 2| x4H

30,000 4350t2|

HH W

HH W

33,050

20,000
10,000
3,000
7,000

13,050
6,525
1,957
4,568

32,000

1,050

AR

4

2,844,317
1,362,099
71,000
381,131
1,024,543
5,544

4,011,514

A2,067,197

JIZELD ®E

Mo W

2,118,081
1,001,899
297,401
728,781

3,083,130

A965,049

rz

12,843

14,270

A1,427

12,843

14,270

A1,427

| H
02

1oz

OI
0
2
rx
Sl
o0
oy
)
0R
i
[af

OLFERA ZIIHX &5 Ot

95%+27,0004

AA
_I_TE

4,500 »540CH

6,345
3,285

720

2,565

2,430

7,050

AT705




2A:

I JI;—t'.jﬂ s
s JI=SD AS (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O2d¢xt tHEItA NZAIY E22 M
70,0003 x9N 630
2 ZZ2H| 6,498 7,220 AT2
OBANELYBIAN SLLER3
380 %17,1004 6,498
=20 HSUHR =8 9 22,000 22,000
207 AR 22,000 22,000
01 HESHI 22,000 22,000
ORMI3ZH &2 JI=2D| HSUH =8 89
22,000,000 22,000
NAHR HSzH NFAS 30,000 0 30,000
= 18,000
< 3,600
= 8,400
402 QI>F X201 & 30,000 0 30,000
= 18,000
== 3,600
o 8,400
02 QI EASEX(0IETHR) 30,000 0 30,000
OAEIH HS3t K& At
30,000,000 = 1CH 30,000
= 18,000
== 3,600
o 8,400
SRR DOIHEX XML (SHBRI HSIHA N 1,514,480 2,194,280 679,800
ZALY)
= 757,240
== 227,172
[Ea 530,068
301 22N = 1,514,480 2,194,280 679,800
= 757,240
=S 227,172
s 530,068
14 0Bt 2as 1,514,480 2,194,280 679,800
O:=FFA ZIIHX XEAL(552)
1,600,000 *160CH 256,000
= 128,000
= 38,400
o 89,600
O=FFA ZIIHX XEAE(4S2)
3,700,000 «324CH 1,198,800
= 599,400
=S 179,820
s 419,580




2A:

I JI;—t'.jﬂ s
=Rl JI=RD| HE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ows2asa ZIIHT A (&I
3,730,000 * 16CH 59,680
= 29,840
[ 8,952
T 20,888
=R/ IEOtA H2EX EXAE 49,500 168,400 108,900
= 24,750
& 7,425
Ea 17,325
402 QI2F X201 & 49,500 168,400 108,900
= 24,750
s 7,425
s 17,325
02 QI EASEZ(0IETHR) 49,500 158,400 108,900
ORI HEIA HLEX 23 A
3,300,000 * 15CH 49,500
= 24,750
=S 7,425
s 17,325
23012t IUEX dsKA 2l 1,458 1,680 N222
= 729
=S 218
s 511
307 21201 & 1,458 1,680 NP2
= 729
= 218
Ea 511
05 2I2+RIE =S 1,458 1,680 N222
OE3JI12 BUEX ds7X 2l
72,9003 *20CH 1,458
= 729
= 218
Ea 511
IHEE N=sA 22 E2AY 10,800 36,000 N25,200
= 6.480
= 1,296
[Ea 3,024
402 2IZtA=01d 10,800 36,000 A25,200
= 6,480
= 1,296
= 3,024
02 QI X2 AL EE(0IETHE) 10,800 36,000 N25,200
OJHE8 N=A 2 B2AMY
600,0002 *18CH 10,800




o
oy
==

& 0l X 22
D JIZEEs s
=

20| =g

SA - B - SRUBH) - MRAR - BAS A HIDEZ

= 6,480
=S 1,296
s 3,024

LT AW XA 462,000 610,500 148,500
= 277,200
= 55,440
o 129,360

402 2I2F X201 & 462,000 610,500 148,500
= 277,200
= 55,440
o 129,360

02 QI X2 AL E R (01X THE) 462,000 610,500 148,500

OAEIA AT WH XIHHAS

16,500, 0002 +28CH 462,000
= 277,200
= 55,440
o 129,360

SSIXtE LPGAH M etX|& 15,000 28,000 213,000
= 7,500
= 2,250
o 5,250

402 QIZtA=01A 15,000 28,000 13,000
= 7,500
S 2,250
= 5,250

02 QI X2 AL EE(0IHTHE) 15,000 28,000 13,000

OOel0l SEIRHE LPGX !

5,000,000 *3CH 15,000
= 7,500
= 2,250
s 5,250

OIMIHX X2 726,236 1,828,384 A1,102,148
= 270,200
s 71,000
= 83,730
o 295,762
= 5,544

leg=dy =g 71,544 66,000 5,544
= 19,800
o 46,200
= 5,544

201 et ] 71,544 66,000 5,544
= 19,800
s 46,200




SA BRI
33 J|=He US
s DINA M (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 5,544
01 AtR2t2|HI 51,800 5,500 46,300
O HAMI 7,800,000 * 10 2 7,800
s 2,340
s 5,460
Ozels89] 22,000,000 #2012 44,000
& 13,200
= 30,800
2 s5=34l 19,744 60,500 N40,756
O3+l 7,100,000 +20H 2= 14,200
= 4,260
= 9,940
OUWIIRYEZY FIIAE2
220,000 x2)4 2% 123 5,280
= 5,280
otIeasdd Saes
11,0002 »2H A+ 123 264
= 264
A2 AEE SXAE X K& ALY 468,000 1,459,800 991,800
= 260,000
= 62,400
[Ea 145,600
402 2IZtA=01d 468,000 1,459,800 /991,800
= 260,000
= 62,400
= 145,600
02 QI X2 AL EE(0IHTHE) 468,000 1,459,800 /991,800
OATE AFEE SXAIE EXIXS ALY
468,000,000 468,000
= 260,000
< 62,400
s 145,600
SMHSEEII| EX - 282l N 15,300 16,808 21,508
= 10,200
< 1,530
s 3,570
307 lztol & 15,300 16,808 21,508
= 10,200
== 1,530
[Ea 3,570
02 B AAHE L 15,300 16,808 21,508
O==NSEEII| X - 2822l X
A+ 15,300,000 16,300
= 10,200




SA BRI
g J|RHs s
=l OIMEX M (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 1,530
s 3,570
BIEJtA bS5 Xtg S Mt Sthilct 2€ 2el 24,200 10,920 13,280
201 er2 3| 24,200 10,920 13,280
01 AtR2te|Hl 13,400 0 13,400
OZe|ANAE RAI24|
3,350,000 x4= 7| 13,400
02 s3=gHl 10,800 10,920 A120
Oostes 800,000& 12202 9,600
(OFSPIVNE=T= 20,000 *5IH A 1204 1,200
OIMIZHA &2l0] s 2g2dl 5,192 5,792 2600
201 Ler23| 5,192 5,792 2600
2 s5=34l 5,192 5,792 2600
ODINIEAl €20l dss Sties
6,000 x 11U~ 1204 792
OOIMZHAI &2I0l A& RAIEHI
400,000 = 11CH 4,400
OIMISIXl S 0CHHHE ol ZAl AFAS (F4) 142,000 156,000 214,000
s 71,000
= 71,000
101 @124H| 142,000 149,153 AT7,153
= 71,000
Ea 71,000
04 JIZtNZ22 NS 2+ 142,000 149,153 AT7,153
OOIMZHAI =& LtCH BHE0E 2PAl 12|
142,000,000& 142,000
[ 71,000
s 71,000
2H3E 2l 46,677 74,397 N2T, 720
[Ea 46,257
= 420
ol Z2tel 5,432 2,492 2,940
ASIENAE 1,100 1,100
201 fer= 3| 1,100 1,100
02 S3=gHl 1,100 1,100
Og=ZHl |XHI(128) 1,000,000& 1,000
OXSIHHEtA ST B A== 2
50,0002 *2CH 100
AFANZ NSHAEX 2S2cl 4,332 1,392 2,940
201 er=23| 4,332 1,392 2,940
2 s5=34l 4,332 1,392 2,940
ONFEAHANE NSHAEZX FHF2AHM 2
= 11,0002 *1CH=120H 132




2A:

2HZ 0l L Xl 2t

I BAQH 22
chelr lgze] EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O0IsAAFHAZ ASHASX AH2tel &
HA2M 2= 100,000 1CH* 12 1,200
OFHAZE NSHFAFEX KX 2=H]
3,000,000 3,000
S22 AIE &2t 30,825 71,905 241,080
EHMEANLES 30,265 31,905 1,640
201 2= 21,620 22,960 21,340
01 AtR2t2lt] 12,400 13,360 A960
OZ2E =2 =24 832 M
4002 *1,2000H 480
OUJIBHEAIE R@EE ZAL
560,000 % 179K 2 9,520
OELRATAA} 100, 00024 % 1074 A 1,000
OBALYUSH EAL HAS II=Y)
200,000 *7& 1,400
2 35234l 9,220 9,600 A380
Oe==&tdl || 500,000 500
Ottsxtg F Al 7,760
~ XS XhAl 50,0002 2CH 100
-BAEE= 50,000 «2CH 100
-2z 750,000 2CH 1,500
—SFNE RS = 30,000 *2CH 60
-AHEH 3,000,000 *2CH 6,000
OLEE 2HE 2=
40,0002 =2CH* 122 960
206 M=l 5.875 6.175 A300
01 MHZH| 5,875 6,175 A300
ogHes+g 150,0003 172 A 2,550
OE=HIZSFL (=S 168)
3,325,000 3,325
301 EtE NS 2,770 2,770
11 AALRHIXIR S 2,520 2,520
OB I=XdE 24
70,0002 x2&+23|x9d 2,520
14 IIEt2 83 250 250 0
OstZegdirss 50,0003 5% 250
olstSd otMAC| AR & XNHeSAtD S 2l 560 40,000 139,440
201 er2 3| 560 0 560
01 AtR2t2|HI 560 0 560
Ostetsd M2/ FH+E
70,0008 22| *4H 560
Addet sy &8 N 10,420 0 10,420
Ea 10,000
= 420




S2A: 230Xt
I BAQH 22
el Adet dEsd £y X EEREE)
SN - O(BH) - NRAY - BAS 0l & G o HIDS2
ZASLoH 242 X3 420 0 420
= 420
201 2Bt 420 0 420
= 420
01 Al22t21H 420 0 420
OXAASUHAISIAS BMeY
70,000 *3H *23| 420
= 420
TE2H|MHE - ZPAEREE OIZ XY AEIZAI (7 2ES 10,000 0 10,000
308 AXIHMSOIA 10,000 10,000
07 RXSHH22E2 10,000 10,000
O ZSHIHE - ZARRE QIZXE A=A
a1 2932 10,000,000 10,000
TEEEEN 3,128,419 3,383,010 A259,591
= 300,000
| 80,200
= 2,748,219
SEAS 2L 80,200 128,000 247,800
| 80,200
QAZSFAUL|AIH (013 EH I} 70,000 63,000 7,000
J| 70,000
207 AR 70,000 63,000 7,000
J| 70,000
01 &4 70,000 63,000 7,000
OxEQLAEZ 0|HEHI} 70,000,000& 70,000
| 70,000
QAEASTACAIL (BIBAZAIE 2LIEHE) 10,200 65,000 AB4,800
J| 10,200
207 AR 10,200 65,000 254,800
| 10,200
01 AREAY| 10,200 65,000 254,800
Q20243 =ZEQQIASHA HISAUAIE 2
LIE™ 10,200,000 10,200
J| 10,200
tEER2tel 2,619,219 2,624,980 Ab,761
IEEasSHelAE2F 22| 2,619,219 2,624,980 Ab,761
201 Ler23| 582,219 368,480 213,739
01 A2l 100,019 6,280 93,739
O =9 = 600,000 *23] 1,200
OHZUN Z2nd === 1,500,000& 1,500
OaE&H BudE =3 3,500,000& 3,500
OINEELSSHAIE D=8
31,243,000& 31,243




SA 20X

E M

=l Jéi—ii&l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ONEFEaSSHelAE =HeDl=ds
62,575,920& 62,576
02 S3=gHl 482,200 362,200 120,000
Oo&IIe3 40,000,000& «12& 480,000
OXIINSIt SEEE= 1,000,000 1,000
O&IITHSAE =Xl 1,200,000 1,200
206 M=l 1,000 1,000
01 MZH| 1,000 1,000
SHEHISTPY (=80 2 28)
1,000,000& 1,000
307 @12to| & 1,836,000 2,137,500 /301,500
05 git?(& = 1,836,000 2,137,500 A301,500
OIIEEL33H2AIE Bt 23|
204,000 SR 1,836,000
401 Al HIZL 201 200,000 100,000 100,000
01 Al&H| 200,000 100,000 100,000
Ol (ARE DM L AEES )
200,000,000& 200,000
SSH==XM2lAId X & 2 429,000 635,030 A206,030
= 300,000
o 129,000
SO AEHA == H-22 FBIAF 429,000 0 429,000
= 300,000
o 129,000
401 AIEHIZ SR 0HYI 429,000 0 429,000
= 300,000
T 129,000
01 Al&HI 429,000 0 429,000
Odsd e == Hi+22 A
429,000,000 x 14 429,000
= 300,000
[Ea 129,000
AU &Y T 2,835,946 6,161,266 A3,325,320
Jl 933,810
=S 628,808
s 1,273,328
ATHAOIEHAL HIFt=Al e 22,700 980 21,720
AT MWHUUE K &Y SEA 2 700 980 1280
201 2= 700 980 A280
01 At22t2l] 700 980 2280
OXEZ AU &t Sd223 2
=g 70,000 *10E*12] 700
ATHAOIU X &S Fd JI=2H = 22,000 22,000
207 ARl 22,000 22,000




SA S
I AU &Y |4
SR ATHEUUEA HIFtEAl =4 EER=E)

SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2

01 = 22,000 0 22,000

OLIHMUIU X &t F4 JI=2AHE
22,000,000& * 14 22,000

ATHAOIH AL &b D1EHAIE

FA
0x

2,813,246 6,160,286 A3,347,040
933,810
628,808

1,250,628

S

M H

EHrFE S M (EX)(ZHAEXR) 54,000 165,900 111,900
21,600
32,400

M

402 SI2ERHE01 M 54,000 165,900 A111,900
21,600
32,400

M

02 QI R2AIS 2R (0IETHE) 54,000 165,900 A111,900

1,500,000 369+ 54,000
21,600
32,400

A H

28 Y BESAMS(2IIEER) 8,000 0 8,000
3,200
4,800

M

402 SI2ERHE01 M 8,000 0 8,000
3,200
4,800

EUNGE

02 QIR 2AIS 2R (0IETHE) 8,000 0 8,000
OZEE HHeE EXAE

400,000 *20kW 8,000
3,200
4,800

M H

F4s0E B2 ESAML(SIIEEXH) 10,000 0 10,000
4,000
6,000

M

402 SIZERHE0| M 10,000 0 10,000
4,000
6,000

UMY

02 QI R2AIS 2R (0IETHE) 10,000 0 10,000

400, 0003 *25KW 10,000
4,000
6,000

M

ATHANU X SSEXA 2,311,112 2,791,236 A480,124
933,810
413,191
%4, 111

S

MO




SA BB
3 MY & T4
Rl AMTHEUUX & JIBAIE =4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 2,311,112 2,791,236 A480,124
Jl 933,810
== 413,191
[Ea 964,111
01 Al&HI 2,311,112 2,791,236 A\480,124
OMTHAMNILT S=EXIRA]
2,311,112,000& 2,311,112
Il 933,810
== 413,191
o 964,111
NSAOUX SHAAH QIS AFH (SHAEXIR) 52,500 47,500 5,000
308 XtXIEMSOIH 52,500 47,500 5,000
18 SIS0t 4 A AS At 52,500 47,500 5,000
ONAOILIX S2AAE QTHAA Al
52,500,000& 52,500
BYZ ONE 29 2 s AAE N 2HE 357,634 1,831,000 A1,473,366
IEMS (2T XR)
== 178,817
o 178,817
403 AXIEHHSAH=201H 357,634 1,831,000 1,473,366
[ 178,817
T 178,817
02 SIS0t =S A AEHI 357,634 1,831,000 A1,473,366
OHIZE ONE 29 L S| AAEW
oSS AEAE 357,634,000& 357,634
= 178,817
[Ea 178,817
AEAE HH2Z B2 A (2T RH) 20,000 0 20,000
s 8,000
s 12,000
402 2I2FXH=201H 20,000 0 20,000
[ 8,000
Ea 12,000
02 QI TH2AILEE (01X THE) 20,000 0 20,000
Ottt AE H2E 25AE
400, 0002 *50KW 20,000
= 8,000
o 12,000
OIHXI AH2e =88 2el 434,660 364,900 69,760
= 55,146
) 43,200
= 40,8%
= 295,420
HiUX o018 & 35283t 434,660 364,900 69,760
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2HZ 0l L X 2t

S - BE - BI(3) - NRAY - BAS

ol vy

HMEE
Ofl &k2h

0

M H

55,146
43,200
40,894
295,420

200,000

220,000

220,000

200,000

220,000
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refre
SRR
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200,000

200,000

220,000

/20,000

SAITIA Z2SAKA (EAIEA])

MO

55,000
16,500
38,500

55,000

~
S
o
r. ]
pe
Ji!
o
=

M H

55,000
16,500
38,500

55,000

OSMEZAH=FEH TADIAISAME &X
|

& 55,000,000&

M

55,000

55,000
16,500
38,500

55,000

FHAAS HHXISX

S

M

84,000
43,200
12,240
28,560

77,400

6,600

402 2I2FX=01 &

S

M H

84,000
43,200
12,240
28,560

84,000

02 el
OXM

|‘U

P2 AEEZ(0IETHR)
LEDZZ LA

k>

Ol

=
=

02

153,846& *395

O=XAE LEDEE wAl
175,675 4445

S

A H

S

M H

84,000

6,000
4,200

540
1,260

78,000
39,000
11,700
27,300

84,000

LPGEI| ALt AIEIHE AL

Mo W

22,500
11,250
3,375
7,875

67,500

A45,000

403 KXt

ball
mn

JISA=0lHd

22,500

67,500

245,000




SA 230X
WX e =85 2

Soi: OliXl Ol% % St (el mg)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 11,250
=S 3,375
s 7,875
02 S7I2S0 U H=E 2 EAIEI 22,500 67,500 /45,000
OLPGEI| AFEItT AIEIHE ALY
225,000& 1009+ 22,500
= 11,250
= 3,375
o 7,875
C2XYEHI(OI2S) FAZBMAH 2SAML 73,160 0 73,160
= 43,8%6
= 8,779
o 20,485
401 Al HIZ S OHbI 73,160 0 73,160
= 43,8%6
= 8,779
[Ea 20,485
01 AlZH| 73,160 0 73,160
OF2xgEd 2AZZHA 7= NFAL
236,000 #3107 2 73,160
= 43,8%6
= 8,779
o 20,485
sE=dE SFHd 316,760 634,800 /318,040
2 - 22t 292 316,760 634,800 A318,040
sEIIEs X 185,200 181,200 A\26,000
401 AlEHIZL S0 185,200 181,200 /26,000
01 Al&H| 185,200 181,200 /26,000
sEl2s X € 2= 185,200
e 1,700,000& 205 34,000
JIE=F 1,200,000 %101S 121,200
2 - 2ots = Al2el 161,560 453,600 A292,040
201 et 3| 161,560 453,600 A292,040
2 S22l 161,560 453,600 A292,040
OsZEEs & HZS(L)HEo THE £HI
SX = 161,560,000 161,560




